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31 -Y c1I * WPT 3T1 I II I 

6.  
c  q, 1cp.< ) 41i ch YTUT Rciq)I ici qr I 

7. ivici  * fr cU.S  
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Note: English version of the instructions is printed on the back cover of this Booklet. 
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i1iRci frT ft cflcN cf) .1ICI — 
(a) j?t     TJf  (b)  u[I tTlT *1 
(C)  TI1-- -Ti-U'1- T * (d) c  31T RW 311  I 

2. ct ccrfi  CPI 1t fii t" cj 1T cflti 

(a) cp4z (b)  

(c) c Pc qzj (d c  :ft 

3 jRcici ici.I ci  irT frt 1i4 icii1 firiui cl,I Thr tzrr mii * — 
(a) c :f1- i *1 (b) I ct1 i'ii uift i 
(c)  ;11 i c) I (d)  311  *1 

• '' - *? 

(a) ui (b) 

(c)  (d) 

5. fFr ri T cN41 cbi Cp'lI T i -ii 1:nRIn  JiI, — 

(a) r_1'1ui cp (b) cp  

(C) jf{ cp (d) 3T9J fIT c  

6. 1 q-, 3T t, c4  * — 

(a)  (b) 

(c) fj (d) 

7.  

(a) 31Icz1_iiuI (b) 31çl-3fl 

(c) (d) —4 
8. fiIcl ic c) T 1cIIt r  - 

(a) _1u (b) 

(c) jc—cWflH (d) 

9 i1tRci cii cfl c'iITfT 3T 1ci *? 

(a) JI  —  (b)  —p cfrc11*I 
(c)  	 1*—-cII- (d) 

TI 

10. i—i *? 
(a) (b) 

(d) 3J 

11. i1i cic4r iii vr * — 
(a)  (b) cp ç.)cI  

(C) IrIk (d) I'ilI' 

PJI 11 '-I-lI 12 16 ff — 
{IcI IiI cp'I TT t1ft 11211 1II 12 16 dcp '3I' IiI * 311T t c1fII, — 

" 3T111 Ri 1c1 cPclI I 'ii<pfcP qc cj  3 r1i 

T, IIc1 1-1T 311 c1-I 1'1l 'HcPc1I * I TT1T 3 -iPi TUT '1I  § 3T * I 

ci U9 T '3 -'1 ci c  I11T9T(3It Cl, 1..-cp { * 3 '3 j Jff3 1.ç CI 4 U ' 

'lI1 * f5 cl iiRicp fTfIRTr CM '4t 3cict cI?I tR fRT c1I * I' 

12. I1il dpi iIcp * — 
(a) RIcPkl CM -IcI1 (b) IIcpi ?t FZt1T cl,J .Thiqii 
(c) RICPk-I icp1 dPI '.TIIIci (d) it: Icbk- t1ftfTftr dpi  
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13.  f j T rrfr cJ)  *? 

(a) T q (b) cpn iei tR 

(C) 41ci f tR (d) 

14. IGc 5T rthir f 
(a) (b) Wc,[ 

(d) iftfif 
15. — 

(a) 4ii'cp iftfftr * (b) rffifrzir ft * 
(d) 

16. — 

(a) c'j 1::I j (b) cjcçj * 
(c) ct *'iT -t  * (d) tj  

17.  

(a) *jii f (b) 
(c) i.p<j (d) 

18. iii1  * 3i-c14ci Tth *? 
(a) (b) 1.Ikc 

(c) cTI) (d) 1Ic) 

19. '3Tt' f 3TT 1ct,1ci 
(a) -) 3q' (b) 

(c) wni (d) 

20. ifci qfc  * — 

(a) (b) 3w 9T1*I 

(c) jj t j i4 r &fir ti cii fZHI (d) dI1c 3 JlcII T 't4 [1T *1 

21. 1fi1c1 f icp  cilcrl ci—M çw- &i *? 
(a) j4cj'< '.it t Rt'.ii) i (b) 15T Ct c'e ffiiii 
(c) (d) ci  cp' J 

22. 1IIc1 # ic'<+i i  t? 
(a) a (b) 

(c) i-i (d) j( 
23. ''j * — 

(a) gi -ii (b) 

(c) 1 -Jj1 (d) cic1k cIc1 

24. ij- cq - — 

(a) (b) I;LlTT1T 

(C) f1- (d) cI1c) 

25. 4 (:) r 3t4IuI nr * — 
(a) cpu (b) airT 
(c)  (d) 31..lI1:1cp 
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Instruction for the Question Nos. 26 to 30: 

Read the following passage carefully and answer the following questions that follow: 

We in India have our own special problems. No one can deny that some of them are of a serious nature 

and must be attacked with vigour and determination. Our national objectives have been defined clearly. 

We aims at providing every citizen with the basic necessities and complete freedom to lead a life of his or 

her own choice. We aim to create a democratic society, strong and free in which every citizen, 

irrespective of his religious beliefs, will occupy an equal and honoured place, and be given full and equal 

opportunities for growth and service. We aim at ending untouchability and doing away with the present 

inequalities of status and wealth. We are opposed to the concentration of wealth in a few hands. 

26. This passage could most probably be a part of - 

(a) The Indian Constitution (b) A book on Political Science 
Lc) 

(C) A Speech D (d)  A Personal Letter 

27. According to the author our national objective o - 

(a) create unequal opportunities for all. (b) promote individual freedom and prosperity. 

(C) end economic prosperity in the country. (d) favour the concentration of wealth in a few 

hands. 

28. Pick out the wrong statement - 

(a) The problems of Indians are like anyone else's. 
L() 

0) 
(c) Some of our problems can be handled onlyi 

strong people. I 
29. The underline word in the passage 'vigour' means - 

(a) physical tension 

(c) loose temper 

(b) There is no uncertainty about our national 

objectives. 

(d) Our goal is to build an Indian free from 

economic exploitation. 

(b) forcefulness of language 

(d) force 

30. What is the synonym of the phrasal verb 'doing iaywith' used in the passage? 

(a) abolish (b) doing with 

(c) remain forever (d) create 
C\J 

31. Change the voice and select the correct passive voice from the given options - 

Someone gave her bull dog. 

(a) She was given a bull dog. (b) A bull dog was given to her. 

(C) She has been given a bull dog. to (d) She is being given a bull dog by someone. 

32. Fill in the blank with the appropriate word giveelow. 

The Air India concessional tickets these Jys. 

(a) is issuing (b) issues 

(C) issued (d) have issued 

Transform the following simple sentence into complex sentence - 

He admitted his mistake. 

(a) He admitted that he was mistaken. (b) He admitted to making a mistake. 

(c) He admitted that he was making a mistake. (d) He admitted that he had made a mistake. 
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34. Select the correct indirect speech of the given sentence - 

I said to him, "Let us go out for a walk." 

(a) I suggested him that they should go out for a (b) 

walk.
10 

0) 
(c) I told him that they should go out for a walk. (d) 

C) 
('.1 

3 Which of the following is correctly punctuated? 

What a beautiful painting did you paint it. 

I requested him that we should go out for a 

walk. 

I suggested to him that we should go out for a 

walk. 

(a) What a beautiful painting did you paint it. (b) What a beautiful painting -did you paint it! 

(C) What a beautiful painting: did you paint it? (d) What a beautiful painting! Did you paint it? 
0) 

36. Choose the correct word which is opposite in meatg of the given word. 

C) Recede  

(a) Rush (b) Advance 

(C) Approach (d) Forward 

Find out the misspelt word - 
It) 

(a) seize C (b) decieve 

(c) believe i2 (d) reign 
C) 

38. Choose the correct one which best expresses the ianing of the phrase of the underlined words - 

I am like a cog in thewheel of this company. 

(a) a technician (b) the least paid employee 
10 

(c) an important person (d) an unimportant person 

39. Choose the correct word which expresses the meng of the underlined word of the sentence given 

below- 

Deepak has a penchant for fine poetry. 

(a) Desire 

(c) Liking 

40. Consider the following statement and choose the correct option - 

The Dash is used - 

(I) To indicate an abrupt stop or change of thought 

(II) To resume a scattered subject 

(a) Only(l) (b) Only (II) 

(C) Both (I) and (II) (d) Neither (I) nor (II) 
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41. Find the odd one from the given alternatives - 

(a) AXCZ (b) JOKQ 
(C) TBVD (d) FRHT 

42. Blind and not blind is an example of - 

(a) Qualitative data (b) Quantitative data 

(c) Both (a) and (b) (d) None of these 

43 Which of the following is determined with the 

help of histogram? 

(a) Arithmetic mean (b)  Median 

(c) Mode (d) Harmonic mean 

44. 11 observations are arranged in ascending order. 

If 10 and 9 are respectively the arithmetic means 

of observation on even and odd places, then the 

mean of all 11 observations is - 

(a) 950 (b) 9.48 

(c) 945 (d) 8.63 

45. If the area of the base of a cone is increased by 

100%, then the volume is increased by - 

(a) 200% (b) 141% 

(c) 182% (d) 100% 

46. The semi diameters of bases of two cylinders A 

and B are in the ratio 3:2 and their heights are in 

the ratio n:1. If volume of cylinder A is 3 times of 

volume of cylinder B, then value of n is - 
(a) 3 (b) 4  

2 3 
(c) 3 (d) 2  

4 3 

47. If the radius of a cylinder is increased by 25%, 

then by how much percent the height must be 

reduced, so that the volume of the cylinder 

remains same? 
(a) 36 (b) 42 

(c) 58 (d) 62 

48. If both the square root and the cube root of a 

three digit natural number belongs to the set of 

natural numbers, then the sum of its digits is - 
(a) 9 (b 10 
(c) 18 (d) No such number 

exists 
49 HCF of two numbers is 25 and other factors of 

their LCM are 14 and 15. Sum of the numbers is - 

(a) 700 (b) 725 

(c) 750 (d) 775  

41. Jt {;1cf'c4i 

(a) AXCZ (b) JOKQ 

(c) TBVD (d) FRHT 

42. 31 .1 1cf)  \Ut t —  
(a)  (b)  

(c) (a)3t (b) c')'-I' (d) 

II 
43 &rr fi fT Rici f.TuT Ic1l 

c1I 
(a) i-ui nJ (b) 1IIIbI 
(C) cp (d) ç-1-c [JZ 

44.  

ZTf 10 L  9 P-tI:  Zf {r9 IT?t tR 3IT 

ftZ 1ic11Jt, 1T 11 
191w t — 

(a) 9.50 (b) 9.48 
(C) 945 (d) 8.63 

45. zff f IZT * 3I1T Zr -t "l 100% ç  f 
- 

(a) 200% (b) 1.41% 
(C) 182% (d) 100% 

46. c) c't'1' A tT B Z  3I11TZr Z c1I 3:2Z 

311IId * Zr€T[ 1cf) @ n:1 LjIc1 

*TT AcPI 3II'.!cll, *fT B ZF 3Iic1I Zfl 

3 lI 1, t n c —  
(a) (b) 

2 3 
(c) (d) 2 

4 3 

47. - C 

;) 1bcI 1Id -1I-J! IT II'H' flT9 

wr ii'-icii IIlc1 ? 

(a) 36 (b) 42 

(c) 58 (d) 62 

48.  

Zr I-1c'l -t'1 1 Ic1cb Z  

t, ?r si fr i — 
(a) 9 (b) 10 

(c) g (d) ci, 1 -klI 

49. bl HCF 25 * Z12.IT LCM Zj 3 

 143k 15*1 1l31 5T i * — 

(a) 700 (b) 725 

(c) 750 (d) 775 
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50. Choose the set of numbers from the alternatives 50. 1lc- 
which is similar to the set (6, 36, 63) - - (6, 36, 63) 'iii 

(a) (8, 64, 46) (b) (7, 49, 98) (a) (8, 64, 46) (b) (7, 49, 98) 
(c) (94, 44, 5) (d) (11, 111, 84) (c) (94, 44, 5) (d) (11, 111, 84) 

51. If the LCM and HCF of two polynomials are (x + 1) 
(x2  + 6x + 8) and (x + 1) respectively and one of 
the polynomial is x2  + 5x + 4, then the other is - 
(a) x2 -3x+2 (b) x2 +3x+2 

(c)x2 +2x+3 (d)X2 _2X+3 

52. If after selling 30 pens, the seller observes the 

profit of sell price of 10 pens, then the profit 

percentage is - 

(a) 3333% (b) 50% 

(c) 66.67% (d) 200% 

53. If two dogs start running in opposite directions 

on a circular path of diameter 7 m with the speed 

2.5 rn/sec. and 3 rn/sec., then how long will they 

take to be at maximum distance? 

(a) i second (b) 2 second 

(c) 3 second (d) 4 second 

54. If X men complete a work in 40 days and after 

adding 5 extra men 10 days are saved, then 30 

men will complete this work in - 

(a) 40 days (b) 30 days 

(c) 20 days (d) 10 days 

55. Three numbers are in the ratio of 3:4:5 and their 

HCF and LCM are 40 and 2400, respectively, then 

the largest number is - 
(a) 40 (b) 200 
(c) 240 (d) 360 

56. Assertion (A) - Interpersonal attraction is a part 

of social interaction. 
Reason (R) - It is necessary for survival. 

(a) Both (R) and (A) are (b)  Both (R) and (A) are 

true and (R) is true but (R) is not 

correct explanation correct explanation 

of(A) of(A) 

(c) (A) is true but (R) is (d)  (A) is false but (R) is 

false true 

57 Which communication network promotes an 

individual to communicate confidential 

information only with his immediate superior or 

subordinate? 

(a) Gossip - chain (b) Cluster - chain 

(c) Wheel - chain (d) Single - chain  

51.  r igc'1 * 1CM 3ft HCF pj: (x+1) 
(x2 +6x+8) T1T (x-t-1)t 3fr  'cp 

x2 +5x~4r, FT * - 
(a)x2 _3x+2 (b)x2 +3x +2 

(c) x2 -i-2x+3 (d) x2 -2x+3 

52. Ll{  l.cf  Iccii cP  30 cpjf *EE1 li4 10 cpc.V-l'l 

14 T 5T ffT c1I *, T 9TT T5T iRici 

(a) 33.33% (b) 50% 

(c) 66.67% (d) 200% 

53. if cp q) 71 c24t'1 ciicl cc1Jqk IT 11-v 

11ci fiift t 

c -ii ft 31Tq 

'I Iciii i-u-i e11'1 411? 
(a) 1cu (b) 2cu 

(c) 3cj,u (d) 4cu 

5& i1  X 31T 1 cf 419 40 fj1 I Cç * 
sR1cti 3ir1  iof t ld 

tth *, 30311 cI1-I p ctJ 
(a)4f (b)3fft 

(c)2of (d)io.i'f 

cll'i *ii31'f T Z3iiii 3:4:5* 1f ici HCF 31 

LCM iiI: 40 3fr 2400 *, r  rrr 

• 1*- 

(a) 40 (b) 200 
(c) 240 (d) 360 

56. 3T1m5r (A)— ciI1c1,  31icpI iiiiiRicp 
3clIfl 5T C) * 

(R)— -i s1lIkti  3iIciq *1 

(a) (R) 3it (A) )-i (b) (R) i3ll (A) i'i 
3 (R),(A) tcl *f5 (R),(A) 

 cqsj  

* cfr1I* 
(C) (A)'-lc'1*f5 (R) (d)  (A)Içc1*f5 (R) 

1lelcl *   * 
57. ii  f c1i r &rk 

3tt{ ZMfThW 3TT 3N 319W aItIt 

ñ'Thr c4-tI u1f c1I *? 
(a) iyq - (b)

- 

(c) tç  - (d) t - 

[A-2-24] 153102 Page7of16 I II II III I Hil U HUIIHIIIIIIH I 

 

 

  



58. Given below are two statements, one is labelled 

asassertion (A) and other is reason CR) — 

Assertion (A) — Oral communication is a useful 

channel of communication. 

Reason (R) — Because oral communication has no 

proofwhat has been communicated. 

Select correct answer using the code given 

belowt 

(a) BothA) and (R) are (b)  Both (A) and (R) are 

true and (R) is true but (R) is not 

correct explanation correct explanation 

of(A) of(A) 

(c) (A) is true but (R) is (d)  (A) is false but (R) is 

false) true 

59. lntern4onflict  that occurs, when people receive 

informon incompatible with their value system 

is knoas - 

(a) Cogntive (b) Environmental 

Dissonance Dissonance 

(c) Social Dissonance (d)  Political Dissonance 

60. Which one of the following is not a type of 

informal communication network? 

(b) Cluster 

(d) Circular  

 c3Tf2Ff(A) 

3 ) cJ'JI (R) ci!  l.?H 

&ftT5f (A)— Icb 1zI1 Cj) 4)  

*1 

ctI'i (R) — -u1{b -Il{cp '-tzlk cI cPI N4 

*, HCt)I W-1IUI -il clI I 

lII' if— 

(a) (A) 3Th (R) cl.rj'j (b) (A) 3I (R) 1i 

(R),(A) c1*i (R),(A) 

fc) rt1 I 'ci i I I 

(C) (A) Ic"-T t f5 (R) (d)  (A) Ic'1cI f;: (R) 

41c'lcl * c'-1 * 

3fRTftcb IIIcI, il fTfT Z cbkul c-'1 

r{3kic1Rc 1 t1.1ITt 

'lcii *, iii'ii 'iicii 

(a) 41Ic- 1cp 1*IR1 (b) 1cpu11. 1 -HI11 

(C) -{jc 1'(1i (d)   iI1 

60. jcj 4   cp fliRci 

tI  cI  *? 

(a) (b) 

(c) iqi'-i (d)  (LiRg.) 

61.  

(A) 3Th c) cf)IUI (R)  ii —  

&1-N (A) — - tlk tc1I 

* I 

iI (R) — ti1 {c-) (1.ciclI) 'c I1:i. I 

(r TiuT) i i i I 
? 3IcIlct' *1 

ifi  \31 

(a) (A) 3fr (R) c1'-i (b) (A) 3ft (R) c'1'i 

* 3fl (R), (A)   * fj (R), (A) 

c) Ht c1kslI cçlI fc °1Ns-fl 

cpdI* 

(c) (A) I-tc1 * (R) (d) (A) Ic'lci t fT5 (R) 

flc'icl '1c.T * 

62.  

1'1 3I4I Ct;) cI) CM c1)cPI T — 

(a) c.-i (b) cpu'j ct;) Cl-{ cp'-I 

(c) 4) '-'1ci' C)I (d) dVl * 

CI)I.lI [ZI fi'ii 

(a) Pro.jbility 

(c) GoD 

Given b$low  are two statements, one is labelled 

as asseition (A) and other as reason (R) — 

Assertion (A) — Clarity of communication is 

essential for effective 

communication process. 

Reason (R) — Because adequacy and timing is not 

iC essential for effective 
C 

communication process. 

Select cprrect answer using code given below - 

(a) Bo1fj(A) and (R) are (b)  Both (A) and (R) are 

true nd (R) is true but (R) is not 

correct explanation correct explanation 

of(A) of(A) 

(c) (A) is true but (R) is (d)  (A) is false but (R) is 

false true 

62. Select one alternative from the following, which 

is not a way of dealing with rumours - 

(a) Providing facts (b) Reduction of causes 

(c) Use of reliable (d) Concealment of fact 

sources from leaders of 

community 
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R1id cp"l jU: 21J:f 1~l,i 

(b) 614 

4IcI t9 (d) jqq • cpJ -i 

iRi1ci ct)-j *ik , L.cb M'hiIf1cp 

(a)  cc  (b) WT t IcPi 

63.  

{1c,1ci fT? 
(a) 

(C) 

C 
0) 
IC) 
(0 

(c) [Icb UJ (d) 3Jpfl *ic:iui 

69. U1 TE 5r 1  * I 4)r Icl 3:I iici  

r 1i c,  cti *? ii ctj, 

"ctl cI 5T zJIz1I * I" 9Th1 ?151 

(a) fI (b) 

(c) cc (d) rr 

70. L[ 31 9Jz,  2008 cp  -u11k *, 31 4-1ItL 2011 

ct) i-*ii 1i ii? 

(a) (b) ic  

(C) q1cji (d) iPcii' 

U) 
c66. 
0) 
10 
(0 
C 
('4 

65. 

IC68.
___ ____ 

(c) *izn' 3i1cii*i (d) 

'1tIk 1-H'e1 k {ziii cl)'I ;:fkvr   c 
q)'l f 'iii'-ii '311d1 
(a) 3T9Zf (b) 4)qu 

(C) ccicp.<ui (d) tr 

k .i1i * ik1ci c1ct11 ct . ci 

2Tft1 - 

(1) 

(2yr 

(3)  

(4yfi 

(5) Ri1 

(a) 1, 4, 2, 3, 6, 5 (b) 1, 2, 3, 4, 5, 6 

(c) 1,3,4,2,6,5 (d)4,5,6,1,2,3 

i(t1s fc'].j 1T5Tc1cti -l*? 
(a) (b) cri-i1ci 

(C)  (d) &r 

t9TT (1NJ4¼Jj)  itfr * - 
(a) 3{c (b) cfl1q) *i1riu, 

63. Originally who developed the concept of 

'Transactional Analysis'? 

(a) Joseph Luft (b) Eric Berne 

(C) Harrington Ingham (d)  None of the above 

64. Which one of the following is not a psychological 

barrier in communication? 

(a) Bodily expressed (b) Premature 
message evaluation 

(c) Distrust in (d) Inattention 

communication 

65. In the communication model, the process of 

putting the ideas into a message is known as 

(a) Persuasion (b) Encoding 

(c) Decoding (d) Interference 

66. Arrange the following elements f 

communication process in correct sequence 

(1) Source 

(2) Channel 

(3) Receiver 

(4) Message 

(5) Feedback 

(6) Noise 

(a) 1, 4, 2, 3, 6, 5 (b) 1, 2, 3, 4, 5, 6 

(c) 1,3,4,2,6,5 (d)4,5,6,1,2,3 

67. Which one of the following is NOT a component 

of listening? 

(a) Sensing (b) Evaluating 

(c) Responding (d) Persuasion 

68. Paralanguage is related to - 

(a) Interpersonal skills (b)  Verbal 

communication 

(C) Non-verbal (d) Downward 

communication communication 

69. Shyam is friend of Ram. Pointing to Manish, 

Shyam asked Ram, who is he? Ram said, "His son 

is my son's uncle", Manish is related to Ram as - 

(a) Father (b) Father-in-law 

(C) Grandfather (d) Brother 

70. If 31St March, 2008 is Monday, then what day 

shall be on 31st  March, 2011? 

(a) Sunday (b) Tuesday 

(c) Thursday (d) Saturday 
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71. Which one of the following years will have the 

same calender as of 2009? 

(a) 2014 (b) 2015 

(c) 2016 (d) 2017 

72. Refer to the statements given below — 

I, All boys are truthful. 

II. Kamal is boy. 

Conclusion — 

(1) Kamal is truthful. 

(2) All truthful persons are boys. 

Select the correct answer using the code - 

(a) Only (1) is correct (b)  Only (2) is correct 

(c) (1) and (2) both are (d)  Neither (1) nor (2) is 

correct correct 

3 There is a clock, that is 3 minutes late on Sunday 

at 2 p.m. and it is 5 minutes fast on Tuesday on 

2 p.m., when did the clock show the right time? 

(a) Monday 10 a.m. (b) Monday 8 am. 

(c) Tuesday 2 a.m. (d) Tuesday 6 am. 

74. The relation that is there between 6 and 16, 

remains the same between 12 and  

(a) 23 (b) 29 

(c) 34 (d) 42 

75. This is a number series given below. What will be 

the next number in the series? 

1, 0, 5, 8, 17, 24,  

(a) 37 (b) 35 

(c) 33 (d) 31 

76. Statement : College students should be 

restricted from participating in 

political activities. 

Argument: (I) Yes, college students should 

concentrate on studies. 

(II) Yes, colleges are becoming battle 

ground for political parties. 

Select the correct answer - 

(a) Only argument I is (b) Only argument II is 

strong strong 

(C) Neither I nor II is (d) Both I and II are 

Strong strong 

71. f - i t5T c4  4)1  c4( 2009 cf)  çj' 

4)1 

(a) 2014 (b) 2015 

(c) 2016 (d) 2017 
72. 

I. rr 4Ic'14) ' -1cc4I) * I 

II. cp-Ici lIc'i4) * I 

(1) cP1ci '1cI4') * I 

(2) T41 ',- cL4cTl4) 6Ik'14)  * I 

f I L c4c 15T 1T 4) ' c '3c1 

(a) cc  (1)Tt (b) cc'i (2)T * 
(C) (1) 2TT (2)  (d) r i1 (1), 9 ) (2) 

73. cp t 'R1c1I ') 2 

-Hlc1clI' 4)') ')'.' 2 5 frr 3ITt *1 

 4)l  

(a) -s')1I 10 6T (b) 8  

(c)  2 (d) 14ljI l- 6 s1' 

W-T 6T 16 *, T 122fl 

(a) 23 (b) 29 

(c) 34 (d) 42 

75. &ET 3cI * I 14)I &Trr 3T cIf 

fTT "I 11i? 

1, 0, 5, 8, 17, 24,  

(a) 37 (b) 35 

(c) 33 (d) 31 

76. 4)IciI T?5 Ct)') 'll4)RI4) 

I11T  MI?ItIcI f5R1T 'slIll t4If I 

cIcf: (I) T, cj  * ct)') 

t .-tI tIl1'. I 

(ll)T, cPIcj1 'Iill1icP cc't') '.iii cpI 

r9 5TT  *1 

'j1 5T tiI Ct) - 

(a) cc  c1cf I (b) ccç dc II 1- ;T t 

(c) cict I 9 II(d) c'l.-'f li.ci II -ci- * 
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Arrange the following words in the meaningful 
manner — 

(1) Train 

(2) Car 

-i11c1 

(1)c'f 

(2) cpf' 

(3) Cycle (3) 'thIc1 
(4) Bus (4) r:r 

(a) i, 2, 3, 4 (b) 3, 2, 4, 1 (a) 1,2,3,4 
(c) 3, 4, 1, 2 (d) 1, 3, 4, 2 (c) 3, 4, 1, 2 

78. Anuj is facing North-East. He turned 900  in the 78. 5T 

clockwise direction, then 180° in the 

anticlockwise and then another 90° in the same 

direction. Which direction is he facing now? 

(a) South — West (b) North — West 

(c) South — East (d) North 

9 Select the related number from the given 
alternatives — 

4: 17 : : 7:? 

(a) 48 (b) 50 

(c) 51 (d) 49 

80. Find the correct alternative from the following — 

Glasses: ? : : Bicycle : Unicycle 

(a) Monocle (b) Pedal 
(C) Mirror (d) Face 

81. Who has said, 'Decision making involves 

evaluating alternatives and making choices 

among them.'? 

(a) Rathus (b) Santrock 

(c) Baron (d) Matlin 

82. Inductive reasoning is based on - 

(a) Specific to general (b)  General to specific 

principle principle 

(c) Both type principles (d)  None of these 

83. Algorithm is a type of 

(a) Mechanical solution (b)  Heuristics 

(c) Rule of thumb (d) Means-end analysis 

84. Functional fixedness produces  in 

problem solving process. 

(a) Facilitation (b) Blocking 

(C) Partial facilitation (d) No effect 

cp') if 

(b) 3,2,4,1 
(d) 1, 3, 4, 2 

i'&-c1 0c) 3r l 'l 90°tT 

F1f, 1b 

(a) f jv — (b)  — 

(c) v —  (d)  

79.  

4: 17: : 7:? 

(a)48 (b) so 

(C) 51 (d) 49 

80. 1çj   f1cp& 5T 4'1 — 

:? : : :  

(a)  (b) 

(c) 1t1T (d)  

81. 'Piu1ii f ici i:ji 4 N -f 

ETt z4j c1l * I'? 

(b) uq 

(d) f 

82.  çc 3111T1r * — 

(a) 'th9I-4 (b)  11 

Ricic1 tR 
(c) c.-j MclN 1 c jçj(d)  c' jf 

83. — 

(a) ff (b) ç: 

(C) ccjJ1q) ffzp (d) 9—TVc74  fu 

ft.T1T 1 9t!.1I 

 5th *1 

(a)  (b) 

(c) jfcp *tL1c1I (d) F1TT -t) 

84.  
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If a subject attempts to solve a problem on the 

basis of his past experience, it is called - 

(a) Transfer effect (b) Confirmation bias 

(c') Mental set (d) None of these 

86. For one possible solution after another is tried 

until a successful one is found, is called - 

(a) Insight (b) Guess 

(c) Trial and Error (d) None of these 

87. Which one of the following is not used by the 

people as a method of problem solving? 

(a) Heuristics (b) Algorithms 

(c) Trial and Error (d) Functional Fixedness 

88. Which one of the following methods of problems 

solving gives guarantee of success? 

(a) Heuristics method (b) Algorithms method 

(c) Backward method (d) Planning method 

89. Which type of problem was used by Kohler in 

problem solving? 

(a) Verbal material (b) Detour problems 

(c) Puzzle box (d) None of these 

90. Which problem task is not used in animal subjects 

among following? 

(a) Puzzle box (b) Detour problem 

(C) Anagrams (d) Double alternation 

problem 

91. Find the missing number in the following - 

2, 3, 4, 6, 6, 9, 8, 12, 10, , 12, 18, 14, 21, 

16, 24 
(a) 21 (b) 9 

(c) 15 (d) 16 

92. Anoop and Sunil are ranked seventh and eleventh 

respectively from the top in the class of 31 

students. What will be their respective ranks 

from the bottom in the class? 

(a) 20th and 23rd (b) 24th and 20th 

(c) 25th and  215t (d) 26th and  22nd 

93. The missing letter in the sequence 0., N, K, ?, E 

is - 

(a) L (b) H 

(C) j (d) p  

85.  cp l'' ft *Ii-kI 5T 1Thfl9 3Tk 

311.1T tR cp  F5T MLlk-1 cp'çij 

 c 'ilicil 

(a) 3j.ui rnr (b) t)cul tratrrr 

(c) 4lhlRlcp 1a4I'(1 (d)  c'1 r1 

t 9TZT T91T1 iiii flQi c1cp 

n M4k1 cPIi  cPi ilIc1l I 

(a) (b) ij 

(C)  (d) ri ci1J ii 

87. fj{ç qii'9i cp '(IWfl '91WT 

li -uli ti.H .siicii 

(a) c1: tlT (b) 

(c) M.iI t (d) qç--jcp frii 

8 11i wiii {i11ci fiit 

cp flf.T lc1l ii k 

(a) c1: vftr fj (b) tñftTr f1r 

(c)  fifi (d) Ii-ii ffl 

89. •iiI P11TFF Mcti' fl 

ii-.i i 5T [PT frr 1 -i 

(a) fcci, mt4't (b) zi tQT 11I 

(c)tI* xti (d)T c'  .  

q 1ii1bci cf1 1T 141ic9cP i4 

frt -ii f5RiT ltciI 

(a) C) i.jti (b) qT  

(c) t. -1.Ilf (d) 

'd11 I' 

{iIi1i Fkj,'.ci isii uc1 — 

2, 3, 4, 6, 6, 9, 8, 12, 10, , 12, 18, 14, 21, 

CD 16, 24 

(a) 21 (b) 9 

(c) 15 () 16 

92. i cp T 31 ' 

ct'9I: '1ic1lI 31 It1j t I T5T 

\i1'Pi l: (Nil 

(a) 201T 3Th 231T 

(c) 25Z11 21rr 

93.  

(a) L (b) H 

(c) N (d) p 

(b) 24IT 3f 20E1T 

(d) 26IT 3t 22Tt 
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Choose the number pair/group which is different 94 3fl5 cp' t
- 

from others - 
(a) 8:25 (b) 22:67 (a) 8:25 (b) 22:67 

(c) 18:73 (d) 15:46 (c) 18:73 (d) 15:46 

95 A and B are brother and sister respectively. C is A .IT B i-i: .3ft 11 * I C, A T fii; D, 
father of A, D is sister of C and E is mother of D, c E, D Tt ?t t, it B, E 1 fi [E5T 
then how is B related to E?

itfrr *? 
(a) Grand daughter (b) Great Grand 

daughter (a) t.ulc.Il (b) 

(C) Aunt (d) Daughter (c) rr?t (d)  

96. If in any code language, LC is written as 6 av TE 96  fI q)'1S ]TqT , IC cp'I 6 fT TE r 10 
is written as 10, then what will be the code PD fRT 'IIciI *, cp'  1TqT PD T q'1 
in the same code language? ci  
(a) 12 (b) 9 (a) 12 (b) 9 
(c) 8 (d) 7 (c) 8 (d) 7 

97. A train of length 140 m is running at a speed of 97 140 11t P4 ct'II) 60 4t/u  cf) 1ei 
60 km/hr and a cat is running in the same IT ') * ct fe4l 31I fïi iii' 
direction parallel to the train at a speed of *111I.li vr 18 1t/Ju~ c  tIc'I 
18 km/hr. The train will cross the cat in - *1 elIt' fc4 t cp' - 

(a) io seconds (b) 11 seconds (3) (a) io (b) ii 
(c) 12 seconds (d) 12! seconds (C) 12 (d) 12 cjtJ 2

L 

LU 

99. If a + b = + , then the value of a2  + b2  i 99. a + b = + , a2  + b2  15T 919 * - b a b a 
(a) (b) 1 CD (a) (b) 1 
(C) 2 (d) 8 (C) 2 (d) 8 

100. If E = 5, AMENDMENT = 89, then SECRETARY s 100.  E = 5, AMENDMENT = 89 , SECRETARY 
equal to 

- * - 
(a) 114 (b) 100 (a) 114 (b) 100 
(c) 115 (d) 112 (C) 115 (d) 112 
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98. Find the correct alternative for the ming 98. 1? tr fr rt c-t& 1Ict 11.;lk. - 
term 

- ABC, 6, EFG, 210, IJK,? 
ABC, 6, EFG, 210, IJK,? 

(a) i000 (b) 190 (a) i000 (b) 190 
(c) 990 (d) (0) 990 (d) 999 


